20259 H

HFEC a— =

10 (A)  630-1,475 # 2,105 & 2H (k) 595-1,475 & 2,070 & 3H (k)  593-1,476 & 2,069 4H (k)  595-1,482 & 2,077 & 5H (4)  630-1,476 & 2,106 &
L bhd T (F3E) 1L b T (FAE) LAl (254F) LA (R5F4E) LKy —o LR E —o3 1. Al (&254F) LA (&2F4F) L/NAR (&524E) LA (22774)
2. 4% 2. 45 2.4, 2. 435, 2. 43 2. 45 2. 43 2. 4%, 2. 44 2. 4%
3 MED Tk A HiFe 3. fiE D ZF A HliFe 3. (RA) 3.AEE KA) 3.IFRA hr—x 3. IR A br—x 3.BTA 3. BTA 3.9 EAUTALA) 3.9 EAUTALA)
LINEEZORYE LEEZORYE 4. mbLbx 4.hbLlLbx 4, F—ZXRT 4. F—XKRT b 4. G OFEER 2 4. TLH O PN 2 4. & 1) R40g 4. & 1Y K50g
5. 4Ly 5. 4Ly 5 0 AT 5.0 AT 5. IMA— (aa7) 5.IMA— (aa7) 5.7 L—7 1 —Fe 5. 7 L—7€Y —Fe 5.7 —%F > K10g 5.7 —% K15g
R4 1A% e FH R4 1A a5 FH EZES PN e FH B B4 1A fiti B4 1A% i
s bhd TIOFE e 2| 2.6 *fEELOF Bk | 0.4] 0.5 v—<y | 5.88] 7.65 B =% X 0.3 0.39 *EF (ZULA) 3 4
FEIHZ N H 4.9| 6.3 hca=R)] 7.69| 10 KR 4 33.33|44. 44 Bfizx 2 0.5| 0.65
BAi—F% 2 0.25] 0.33 Y 1] 1.3 EhE 31.91|41. 49 IZACA 4 |10.31] 13.4 kRN H 8| 10
kpoBSELIFA|0.57| 0.74 L EE 2] 2.6 IZACA 4 ]10.31] 13.4 Z Az < 25| 30 kBT (B> b) 8| 10
A CA A | 8.25(10.72 xR 30 40 H SN 50" = M 71 9.1 Wrgo s (GhE) 15 20 *hEE B < DEMAT A % 5 7
wipfuy L | 33.8| 44 AESLLD T 71 9.1 b~ R HA RS b 12| 15.6 R 1 1.3 ICA LA & | 7.22]9.28
XY A |35.29]45. 88 Lb& 30| 40 kU7 2 0.2] 0.26 BRE (k) 0.6/ 0.78 * 9 EL 70| 80
s T (1. Senf) 25| 32.5 BEVHE (BB 3 4 xwhu= v=xi| 10| 13 kBEH L B 3 4 Eh& MRERE|11.24]14.61
kBt (H) 1.6] 2.1 kv —R— T 130 170 wavy A EaE | 0.97] 1.26 wFEZ Lo# Bk | 0.2] 0.3 )M <L | 5.45] 7.09
*iRfb 4.5 5.85 = 0.07| 0.1 iy 0.28] 0.36 i) 0.25] 0.33 i3 0.1]0.13
*ZFE BTV 3] 3.9 WAL 1) kA 7 9 LD 0.04| 0.05 R <D G B 10 13
Bh&E RENE|11.24|14.61 K¥E 11.76|15. 29 BB A 1.5 1.95 * LD RED 40
Lo b A (L) 80| 100 *HFHI K (ER) 10 15 * EREm (o2 —) 4 5
* KR () 30| 30 Ll RkE |41.24|51.55 Lo bAMES D) 0 0 HERH L 0.4] 0.5
= iEpE 0.75] 0.75 IZACA A |10.31] 13.4 kB AL o 13 *BE & TJE 40| 50 *EVRED 50
BEbRE CkE) | 0.75] 0.75 HENH L 0.1] 0.13 *fyF— X 2.5 3.5 *—ABALb 0] 13
kW< H 1.5| L5 ER AR Y 2| 2.6 ® AL 8Y £ 6| 7.8 *T7—FL R ME 10
TAK 0.5 0.5 =R 0.35| 0.46 K 700 91
7k 10| 13 KOQT OBBHE 50[ 50 kN H— 2| 2.6 *T—EUR M 15
iy 0.15| 0.2 A 29. 41|38. 24
kALY 50( 50 WA LA 4 | 5.15] 7.22
x3IA—s =a=7nk | 12,5 12.5 HRL kL |41.24(53. 61
* ZE M 0.5 0.7
M H 2| 2.6
o) 0.04| 0.05
ZARbE 0.7] 0.9
T (AR 1.5 2
*xZTF O AVDY 0.5 0.7
k7 L—T YU — $EAY 50 50
/NILAE A /NILAE /N ILAE /LA A




20259 H

FHCa—=x

8H(H)  631-1,475 =} 2,106 & 9F (k) 631-1,475 2 2,106 & 108 (k) 629-1,477 3 2,106 £ 118 GR)  576-1,090 & 1,666 f 12H (&) 572-722 & 1,294 &
LA (A7) LAl (2F4F) LA (224 LA (%) LokEy = v~ 1LokEy 3 v % L AR (2FHF) 1AM (%) LN (224F) L/NARR (274
2. 25 2. 44 2. 44 2. 44, 2. 45 2. 43 2. 245 2. 45 2. 245 2. 245
J.TEhL— 3. TENL— 3. 1 ORAR- TLE-79) 3. B2 O B 71) 3. b7 (0477-Fe) (B2 L) 3.8 b7 (94s7=Fe) (B2 L) 3. EBOB L U 3. U OBFIE T 3BT — A v 3BT — A v

4. fEAIE

4. fEAhIE

4.4 EHA DO ER

44048 L RO HEH

LEELa— D7) v 5—2f

LHELa—rD7Y v =3

4. FEl & A TNS Al HE50g

4. FnE & AU @A BET0g

4y a—va (2ff)

4.y 2 T~ A (3fE)

5. NI )=t 2 TAhy bFe 5. INIDY )= X ety bFe 5. Ry v —~< v b 5. 8L v —~ vy b 5. 7mwyal)— 5. 7y al)— 5. 8 F (1/24) 5. 3FF (1K)
6. /%y 7~ 35— R5g 6. /8y 7 ~ = F— Rbg
R4 1AY {5 & B4 N i & R4 1A% i & YRS 1A% i & R4 1A% o
k7 A 1] 1.3 KR 4 33.33|44. 44 IZACA A |15.46(20.62 *FUEZ Lo# Bk | 0.4] 0.52 *RIEA JE 12| 15.6
BHLLLHARE EiE 0.5 0.7 * T8 20 26 EhE 26.6(34.57 B 1] 1.3 MG A E (R 6] 7.8
=07 0.1] 0.13 wbmw, 2y bbrwmEn| 0. 25) 0.33 A EER O3 0.01 0.01 B0 A 20 2.6 ko & (HE) 10| 13
* RN JH 8 10 Rh&E MRERE|11.24|14.61 KA LT AT A R 18| 36 =R 1.74| 2.26 Eh& MEAT|11.24|14.61
EhRX 31.91(42. 55 kR BRI 3 4 F Y A [35.29(42.35 kBB 4.5 5.8 EREN VAR s ] 70 9.1
IZA LA 4 ]20.62] 26.8 * Bz (F) 3.9 5 Laninh (-74y) |33.33]44. 44 e 0.1] 0.13 EhE (x—Ff) 3 4
HEER D 1E 0.01] 0.01 *ET (ZULA) 3 4 w3y A B | 0.8] 1.04 *EWA WA x| 20] 26 RT—AYR=ALLSD 6 8
kF¥LHTA—F| 2.5| 3.25 i 0.13] 0.17 IZACA 4 |10.31] 13.4 *EMZNL D 3.6] 4.68
A IR ATA A 71 9.1 XoFNY 76.92| 98.9 ZLxo 0.04| 0.05 bLHZ I (TU) @A 5| 6.5 i 0.05| 0.07
Ut A |55.56(72.22 N VIIeE Y 20 30 FLLOAE 2902EH 0.5| 0.65 Lk 0.03] 0.04
kN HE 201 30 *ATBN MR 25| 33 stimea—ro7yoa—| 40| 60 kv —R— G 120] 156 KB T — AV 60| 80
kR Y — R 2.5] 3.25 FLLWREG  AAmp 0.5/ 0.7 RHTL =Y D7) Y s 0 0 kORI 35 46 RYILEe] 10 10
TFyx S 1.3] 1.69 * 7 Z 1| 1.3 * R (L2 —) 4 6 BhRE ARERE|11.24]14. 61
FATIN 2k () 4.5| 5.85 =R 0.7 0.9 HolE 3 4 k¥ H=v oA 39 48
e LA 6| 7.8 BB 2| 2.6 7 - ) S~ A X 301 39
k7 A 2.4 3.12 B0l 1.4 1.8 7K 50| 65 k%) 93.33
kN 2.5] 3.25 kEMoNL B 2| 2.6 %8y 7~ 35— Abg 5 5
& AR AL 14| 18.2 * RS A TS A x 50 k) 186. 67
B r—F 0.2| 0.3 kR ¥ =y R 40 40 X AT a7 X 0
ktEphE (EWN) 10 11 * RS A TS AAE S 70
kR & A UD aAEE 0
TR AR 30| 40
SAVE FE b 30| 40
KTV B AR )=y b 30 40
/LA /N IAE /NI ARG




20254£9 H MHEEC a— 2
£ 160 (Jk)  631-1,475 2 2,106 £ 17H (k) 628-1,476 & 2,104 £ 18H (k) 630-1,475 &t 2,105 4 19H (&)  630-1,022 & 1,652 &
L AR (&7F4F) LA (B4E) L AR (&5F4F) L AR (R4E) 1. AR (&2F4F) L AR (R2E4F) 1IN 8 LIy
2. 435 2. 435, 2. 435l 2. 45 2. 43 2. 43 2. 43 2. 43
3B AT e 3. H A ZiFe 3G L IR OB 3G LR OB 3 KARDL )24 BRI o> 3. KARDE )2 a0k AD D> 3. HEA—T 3. AEA—T
4. 78 v I HfilE & 40g 4. 78 v il % 60g 4. EW Y F ZFe 4. fiE Y 7 HFe 1N L W DR L A MBS WS DR L 4. Z O»240g 4. 2 U7»260g
5.4 1LY 5. 4L vy 5. 3= bk~ (2D 5.3=h~ b))
6. AAf— KT b 6. A — KT b
R4 1AY {5 & B4 N i & R4 1A% i & YRS 1A i & R4 1A% o
* Y7 Hh 0.3 0.39 *HF ZH 0.8 1.04 E= | 0.5] 0.65 SEERAE o0 B G 10 13
*ATBA MR X 20| 25 KRN JH 30| 40 BHLLE I 1l 1.3 IZACA A [10.31] 13.4
A=V vz 0.05| 0.07 EhE 31.91(42.55 BAL bk e 1] 1.3 *EEBE B ONEE) 20 26
ZIEH LAREV|5.56|7.78 A CA A [10.31] 13.4 55 LI Wi 0 0 TAK 1l 1.3
KR A 11.11]14. 44 wFEZLOFE Bk | 0.3] 0.4 kRN 30| 39 xavy A BEAHE | 1.5 2
IZACA A [10.31] 13.4 oS b 1] 1.3 ERE REQE|11.24|14.61 bicy 0.25] 0.33
Nl VIt Ry 15 20 = iRbE 0.4| 0.52 Kig 77.78|101. 11 ZLxd 0.01] 0.01
ELUE b (EE) 18] 23 HREDBE CRoE) 1.2| 1.6 ZA LA 4 [10.31) 13.4 LR ST 15| 20
3 13.83]17. 98 RIEHZ LB 4.4] 5.72 Z A< 201 26 ) 0.56] 0.78
*WHT (v k) 5 7 B0 A 2| 2.6 WAL Gry ) ik A 5/ 6.5
* P TKE 8 10 * AT 82(106. 6 k¥ A—FA v | 0.8] 1.04 *XUAY LY (FeCa) 40
FHER 0.5 0.7 *EEHE AU () 71 10 sk JRIENM 5| 6.5 * R (22 —) 4 6
xFFrary i | 0.2]0.26 =iRbE 1.36| 1.77
* i b A2 7.5 9.75 HRL  kEE |42.52(55.27 B0 A 1l 1.3 ®ZUHY LY (FeCa) 60
BALLESHE [ 0.8 1 WS v 7 2 (LX) 1] 1.3 B ERE 2| 2.6
ER& MERE|8.99(11.24 *EMZNL L 2.7| 3.51 RN H [ 0.92] 1.2 I=Fr~Fh 30. 6130. 61
*ZF AWVD 0.8 1 = b 0.64| 0.83 * A 0.4] 0.52
BEE EEE) | 1.35) 1.76 ESi 1.5 1.95 *AL— RHT R OWr) 30| 30
kAR b 40 * ZE il 0.5] 0.65
kAR B 0 i 0.1] 0.13 ZEo, HE[43.96|54.95
* T (I v ) 10| 13
kIR riEHEX 60 kY7 A 0.5] 0.65
kIR riEHEX 0 kMWL H 2| 2.6
bR bl 1.5 2
kALY 50| 50 B0 A 20 2.6
ZiRbE 0.5 0.65
*FRZLOK KR | 0.2 0.26
/N IAE /A /NI




20254£9 H MHEEC a— 2
229H (A)  608-1,442 Z 2,050 £ f 24H (JK)  628-1,474 & 2,102 & 25H (k)  630-1,472 #F 2,102 & 26H (4)  629-1,263 & 1,892 &
1 AR (&254F) 1 HfR (R2F4E) L AR (&5F4F) L AR (R4E) 1. AR (&2F4F) L FfR (R4 1B LR
2. 49, 2. 45 2. 435l 2. 45 2. 43 2. 44 2. 43 2. 4%
3. AW 3. AW 3.7 4 v a K LI 3.7 4 v a R L EN 3. L — (ML) 3. HL— (ML) g Ko EE LD LT e g Ko EELEDLF e
4. SIZOMY fEX50g 4. SEHEOMRY BEXT70g 4. 54 % 5P ($kCaVBL) 45g 4. JEHE & BP ($:CaVB1) 55¢ A, F&Rh 4. R AhE 4. NI F71 7 40g 4. /N1 717 60g
5. 897 (1/24) 5.8 (1/24) 5. DY 5. DY 1A 5.8k v 7 R 5.3k v 7 A 5. a— YT — 5. a—2 YT —
R4 1AY {5 & B4 N i & R4 1A% i & YRS 1A i & R4 1A% o
B S A 15| 20 Py A= 15| 20 BHLLL A EE 0.5 0.7 * 7 Z 4 5
ZiIES LASLV|8.89]11.56 ZIES LALV|11.11]14.44 =V 0.1] 0.13 kINEERy 4 5
L9754 (F8) [EA 8| 10 WA CA 4 |15.46(20.62 L SIS 15 20 Sk BR 4= 3L 40| 52
FLLOEY 4@ 0.5/ 0.5 Z A=< 12| 15.6 IZACA A |15.46] 20.1 Eh& 42.5555. 32
Th& 21.28/31.91 LHEIM (ALY @R 0 13 EhE 37.23| 48.4 SN MigArE| 20] 26
A A A [10.31] 13.4 x40 T 32| 41.6 AR D ZE 0.01] 0.01 IoFNg 32.97|42. 86
koA LT=FZ| 0.7] 0.91 Ue2g £ |55.56(72.22 k«FXLHTIA—F| 2.5]3.25 WA CA A |15.46] 20.1
TFbLHH 23] 29.9 *FEZLOFE Bk | 0.3] 0.4 U230, A |55, 56|72, 22 v anm sk AT AR 10| 13
*EHZ LB 2.5 3.2 =R 0.5] 0.65 VY an— lKE ATA A 8| 10.4 KOVRAR 1/ 4mh 10 13
# 0.35| 0.5 HEDBE CKYBE) 1.2| 1.6 FA-TVI e (1) 4.5] 5.85 w3y A A | 0.62] 0.81
ESolks 2] 2.6 *EWMZNL D 3.5| 4.55 SHL——ED TL—s 6| 7.8 ey 0.4 0.52
ZULE—R 3 4 rFx S 1.3| 1.69 )l 0.78 1
k X IXOWY BEX 50 TAK 1| 1.3 ki — 2 2.5] 3.25
* SIEOWY fEx 0 7K 51| 66.3 k7 A 2| 2.6 kANLTY 40 40
kN FERY 2.2] 2.86 * iR (g s —) 4 6
* SIZOMWY BEE 70 S JFHEE I ($RCaVB1) 55 * PR A EL 12| 15.6
* XXOMRY fix 0 *JEREE I ($kCaVBl) 0 B L—H 0.2] 0.3 ¥ NLHY 60 60
k8 93.33(93.33 *JFREXIW (§kCaVB1) 45 A (EW) 0] 11 Fopamr damEh) 400 50
*JFREXIW ($kcaVBI) 0 H 0.2|0.26
St FEY R 200 26 ZLx) 0.01] 0.01
*DY O TEE 6 6 FrI Ao 20 26 * 7 Zil 1l 1.3
* BRI 5 A (SHE) 20 26
/LA /A /NI




20259 H

HFEC a— =

20H (H)  629-1,462 #F 2,091 & 30H (UK)  630-1,462 F 2,092 £ £ £ =
1 AR (&254F) LA (&%) L AR (&7F4F) LA (B4E)
2. 4% 2. 45 2. 43 2. 43
3. BERK 3. BERK 3. H AN 3. WA SN
4. TFEbx 1. 7FbHx 1L EBOEODE 1 BB TGO HH
5. 50 Bz B (h97) 5. 50 M ERZ B (1)
R4 1AY {5 & B4 N i & R4 1A% i & B4 1A% i & R4 1A% o
SR BT (R 43| 55.9 ZiES O LAELY (11111444
* Ek (£ —) 4.3| 5.59 A CA A | 515 6.7
Lo bl (FLE1Y) 40 50 *FXLNTA—T 8| 10.4
Lo b il (LU D) 0 0 kATHA MR A& 20 26
WA UA 4 |20.62] 26.8 DEFZTRL 20| 26
Th& 37.23| 48.4 kEMINL D 3.5| 4.55
FLLWG  24E RN 0.5| 0.65 B 1 1.3
bLHEIH GEl me 5/ 6.5 F0 1] 1.3
v—<> F |5.88|7.65 )IRA TN & 1] 1.3
k7 A 0.3] 0.39 i 0.18] 0.23
= IEbE 2.7| 3.51 *HRX FIEILY A 7 8.3 12
KMV B 4.7| 6.11 ERE MEARX|5.62| 7.3
BHE (BUDEE) 2| 2.6
TAB 0.5 0.65 k7 & 1| 1.3
[SES 0.5] 0.65
HR L RREL |20.62(25.77 810 T LAAR (Hp) 3 4
) NAK 27.78|33. 33 *THTHE (WI51Y) 4 5
*ZFE BTV 2| 2.5 ZA A A [10.31] 13.4
=ik 0.72| 0.94 * T (v k) 5 7
3 AR ) 2.5] 3.25 KIRA MY 1] 1.3
str&HE AUl (ER) 5 7
=R 20 2.6
kW< B | 3.85] 5.01
2SNy 1l 1.3
i} 0.1 0.13
K 10 13
* 50T EEZE (19F) 3 3
/LA /)N LA A




